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I. (15 points) Let y = y(x}. Solve {(e¥ + 1}2eVdx + (e* + 1} e dy =0 , y(0)= ¢
2. (15 points) Solve ¥ (x} + 4y’ (X} + 4y(x) = ¢cosx + 35mx , y(0d =1 , ¥ (0} = 0

3. (15 points) Use Laplace transforms to solve

{ ¥y (£} = =6y, () + 2y, ()
¥a' (&) = 2y, (£} — 2y, (2}

, Fa{0) =3, (0} =1, ¥1(0) = 1;(0) = O

4. (15 points) Given a surface £ = ¢3*sin 3y, find the plane tangent to the surface at point (0.%, 3}.

5. (20 points) Find the work done by the force P = 4xyf~— 8yf+ 2k along the straight line

y = 2x,% = 2Zx from point {0, 0,0) to point (3,6, 6).

0. (20 points) Given f{x}=L—~x, 0 <x < L, represent f(x) by a Fourier sine series.

Hint: (x} = Efuy basin"=x , where b, = 2 [CF(x)sm™=2dx ,n = 12,..




